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D y=-(x+1)2+2 @yzz(x+1)2+2

@ y=-2(x-1)2+2 @ y=2(x-1)2+2

® y=-2x+1)2+2

EA1-o] (-1,2) °|BE2 y=a(x+1)% + 2
EHUstH 4=a+2,a=2
2hA] 2Efmo] A2y = 2(x 4+ 1)% + 20|t}
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@y:§x2—§x+3
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14. o2 2T} Zo] AB = 6cm, AD =
10cm Q1 XY meFo] Fol& A D
7} BC 91l =5 H <& l, BE ¢

Zdol=?
D 2v2cm @ 8 cm ® 243cm
@ 5cm ® 7cm

AE = AD ©|2 & metaretAs AejoA
BE = V102 -62 = V64 = 8(cm)
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BD = V62 + 82 = V100 = 10( cm)
AABD °fA 10x x = 6% 8
. x=4.8(cm)
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® V2 @2vZ @ 3v2 /
il
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1: ¥2=DC:4, DC =22 o]t}.
w2tA AD = 2v2 ]2 BD = 2V2 0|22
BC =2V2+2v2 =4+2 o|t},




17. o1& 193} o] wABe 2ol7t 4vEem
o]l A 9Q] Aol7F 13cm Q) Y& Hu]=?

@ 447 cm? @ 88rcm?
®)1767 cm® @ 3527 cm?®
® 5287 cm?

A®o] o] p = /132 - (4V3)2 = VI69-48 = VI21 =
11(cm) ©]t},
wrebA V= % X (4V3)? x 1 x 11 = 176x( cm?) ©|t}.
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22. o= FHEEY A A P(L 1) & SHLE S A E

391 U] U)o QU= W] AEE Fofoier,

@O A(2, 6) @ B(1, 4) ® C(5 1)
@ D(-2, -2) @E(3, 14+ V2)

, A CE QR Qltt
PD=V32+32=+18>3, 4 D& ¢ &% qct.
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EEHEAE
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B =/181|=V8| V4
=/2.5




24.

ohe 1™ 22 AABC oflA AB 9} AC 9] 532

o

51 BELCD, AB =18, BC =10 & o, AC 9] Z

®2vil @3vil @)vil @ s5viI

~&B

—

® 611

DE = 70w 24a7 geld 9sto]
DE — %%: 5 o]t}

ODBCE = i7Hio] A s Aztgo|ng
@2 +m2 _ ﬁ2 —‘er

81 +EC- = 25 + 100

-~ EC =2+V11(~ EC > 0)

L AC=2x2VI1 =4V11
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BC oA & A oA

& 299 4244 A
BC of H&l =49 %S | g ok, A M
2 BC 9 ¥Y o, AH - MH 9] dol&
Ffof}

> [ 3

> ®HE D 10

MH = azt & o,
152 = (7 +a)? = 132 — (7 — a)?
995 — (49 + 1da +a2) = 169 — (49 — 14a+a?), 28a = 56, a = 2

et MH=a =2, AH= V132-52 =12
olBE2 AH - MH = 10




